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FEEBEIA 85, 879, 000 85, 809, 640 69,
FEFEBEIRA 80, 731, 000 80, 640, 790 90, 210
FIFAESH AR 2,100, 000 2,120, 850 -20, 850
FIFASSFARIIA (—H%) 2,100, 000 2,120, 850 -20, 850
ZOAMDIBEULA 3,048, 000 3,048, 000 0
HEISBRIRA (NH) 2, 754, 000 2,754, 000 0
X BHIEEZIRA 0
A| SHRBZEA (—H) 294, 000 294, 000 0
BERESHSULA 0
SZHF SELSIRA 6, 000 4,713 1,287
ZOAOUIA 1,467, 000 1,467,508 -508
FIAESIMAREIRA 876, 000 879, 900 -3,900
HMERA 591, 000 587, 608 3,392
BEEHINAG (1) 87, 352, 000 87, 281, 861 70, 139
MNEBEZH, 67, 948, 000 67,629, 133 318, 867
BEEARIsTE 36, 090, 000 35,970, 733 119, 267
BEESTE 9, 700, 000 9, 603, 380 96, 620
R ERTZ 13, 460, 000 13,397, 946 62, 054
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REEATSTE 668, 000 667, 500 500
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B s 5, 000 5, 000
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H| FHERRESL 91, 000 78, 211 12,789
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SEBEZ, 24, 000 24, 000
RIRETH 81, 000 55, 000 26, 000
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SR 1,101, 000 1,090, 908 10, 092
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M 1,000 1,000
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| |ESREBZRAG (4) 0 1,947,603 1,947, 603
x| |BEEERUSEH 1, 900, 000 3,800, 000 1,900, 000
- BYIEUSTH 1, 900, 000 1, 900, 000 0
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ik @R ERE 1, 900, 000 -1, 900, 000
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| [MEREmERLE (5) 1,900, 000 3, 800, 000 —1, 900, 000
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& [ooEaESIRTERE (9) = (7) - (8) 0 0 0
FEEZE (10) 211, 000 211, 000
LEESIN Emast (11) = (3) + (6) + (9) — (10) —43, 000 1,305, 437 1, 353, 437
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LER I ESRs (11) + (12) —43, 000 13,562, 471 13, 610, 471
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